PHYS 102: General Physics - KOC UNIVERSITY
College of Sciences
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Q. Two small masses with charge +q each are
attached to the ends of a neutral bar with
length 2r. The bar rotates at fixed angu-
lar speed w around the z-axis with its cen-
ter fixed at the origin. Calculate the mag-
netic field magnitude at point (0. 0.d) on the
z-axis.
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Q. A wire laying on the r-axis is carrving a current /. What is the magnetic field vector at
A
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Q. A very long wire carrying a current I lays parvallel to the s-axis. intersecting the y-axis
at (0, —a,0). Find the magnetic field vector at the point (0.0.z) on the z-axis.
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Q. A point charge +¢ located at (0.0.0) is moving in +.r direction with speed v. A second,

identical charge at (0,0, d) is moving in — = direction (towards the first charge) with the same
speed. Calculate the magnetic force on cach particle separately. According to your answer,
is Newton's 3rd law satisfied? 2
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